14-2.
Sample median = 8.44


Using the binomial distribution with n=19 and p=0.5,  P-value = 2P(R*(7|p=0.5)=0.359

14-7. Z0 = (1.15, The P-value = P(|Z|>1.15) = 0.250.  Using the continuity correction, the P-value=0.359

14-12. Because r = 2 > r0.05 = 0 for n=8, H0 is not rejected.

14-13. Z0 = 1.41, P-value = 0.159.  Using the continuity correction Z0 = 1.06, P-value = 0.289

14-22.      Z0 = 0.6036, P-value=0.546,. do not reject H0

14-28. Because w2 = 75 > w0.025 =51, do not reject H0

14-31.
Z0 = 0.577, P-value = 0.716

